. = s 23 N
12 AERIE EEEOF: T3 1P Faki = il .53
3 1(2[3[4|5/6|7[8[9[10/11|12(14[15{16/{17|18/1920121
| 22 | | Y | B (k| o VB | | |2 | B | (1| 2 (3| e | A
e | | | e VR L (R DA R
§ iE | i
W R | 2 | | e (o (sl (B| | V|
|| 3 (| g (B | £ A e |2 | 3 | (|2 | | [iE
seg | 1RO IRMIIRDER 151 |olo|oolx|=| [o]-|o|o|o]ofolo]o|o|-|ofo] #msx
PR R AT | sl
6975 | HRBHOBIEICO XM [16; 0 |0]O|O[0|O| - |#|0| - |0|0|o|o|o]o|o|o| - |o|o] 24—
ZRDDHZEIZONVT 3 R
5705 | (TARZRORIEO® 16 0|0|0|0jol0|=| |0]-|0|0|0|ofolofolo]=|0|o| 24—
P AR L OB |
EO®BIZBT 53R | |
w71% | HEBEOEH oA I<H 170 [0]0|O| - |0]o|o|o| [o]|o|-|olo|o|o|olo|o|o] 44
¥ 2 5BIEO—HGEID |
W
sorors | BLRTE AR S AT | _ _ .
WT25 | e oo 17:0|0|0|O|=|O[0|O[0] |0]0|=|0[0|0|0|0|0|0|0f 44
EL TS WA - B A |
#73% | REEESEMOMEICo (17,0 |0|O|0|-|0|o|o|o| |o]o|-|o|olo|ojojolo|o] &%
Neq :
A =) Elﬁlﬁf—ﬂ@tm@%’a‘%ﬂ: Eg‘g— _ _ I .
BT4% | S o e |17:0{0[0]O]=|0|0]0|0] [O]0|=|0|o|o|o]ojo(o|o] 44
i ey TOETE
W75% | ML ORTAESE T 2 (160 1[0|0|0|-|0|0[0|0| |0]o|-|0|0]o|o]|o|0|o| x| Hms
EO—HSEIONT |
PR TR S5 ORGSR O | |
765 | ST 5 £&HO—HHEL |16:1]|O0|0]0O|=|0[0|0]0] 4 |0[|0|=|0]|0|0]0]|O|0|Of x| HHis
2V E
B I F oA VA |
e | TR B R U TR | _ _ .
g ireves-iubrichiig il (el [clle/igiel(el (el [/ liel (e el Sliclie] (el (el (] K22
W :
w78 | wEEmEoREIcowT [17:0 [0|o|o| - [o]ololo| |olo|-|ololo]ololololo| 42
w79% | wEERFORECoWT [17:0[0|0|0| - [0]ololo| |o|o]-|ololo|olololo|o|4s—
m80% | EEmEOREICoWT [17: 0 [0O|O|O| = [0]ololo| |o|o]-|ololo|olololo|o| 44—
w8l | HEEE ofsEIcowT [17:0|0]0|0|=|0|0]olo| |o|o|-|o|ojojololo|o|o| a4
w827 | EEREOREIC-oVT [17:0[O|O|O| - [O]|o|o|o| |o]o]-|o]olo|ololololo| %
835 | EEREOREIC>VT [17:0[O|O|O| = [O|O[0|o| |0]o]-|o]olo|olololo|o|ex
845 | THOMEHIZOVT 17:0|0J0|0]=|0]0|0]O| [0|0]-|0lo|o]0]o]o|0]0] 44
o | A4 SRR E T — Al | ~ _ PN
H85% | e Zee 7 ) 17:0|0|0|O|=|0|0[0|0| |B[0|=0[0|o[0|ofolo0f 45—
A A SRR TR e |
865 | HEMENAFMETE (17 0|0|O|0|-|0|O|0|o| |0]o|-|o|ojo|ojojo|o|o] &%
(8 1%) :
srqrns | R A AEBEPL R TR FE | ~ _ PO
BETE | e 1w - |[1710|0[0|0|=|0[0]0|0| |0]o]=|o]o]ojo|ojoo|o] 4

el (8

O HABEOES

(O] =%, [x] =2ed. [-] =%
F) M UOSERRAER ORIFRE HiTRAT) 133RTmb ) A,

A T 13 RE T,




